Násobenie a delenie zlomkov
1.   Vypočítajte :
a)   
[image: image1.wmf]=

·

18

15

5

2



b)   
[image: image2.wmf]=

·

33

4

8

11



c)   
[image: image3.wmf]=

·

2

21

3

1


2.   Vypočítajte :
a)   
[image: image4.wmf]=

·

5

,

0

13

2



b)   
[image: image5.wmf](

)

=

·

4

,

2

6

1


c)   
[image: image6.wmf]=

·

÷

ø

ö

ç

è

æ

4

21

7

6


3.   Vypočítajte :
a)   
[image: image7.wmf]=

·

÷

ø

ö

ç

è

æ

9

1

5

2

1

4



b)   
[image: image8.wmf]=

÷

ø

ö

ç

è

æ

·

÷

ø

ö

ç

è

æ

5

2

2

4

1

6


4.   Vypočítajte :
a)   
[image: image9.wmf]=

14

9

:

7

1



b)   
[image: image10.wmf]=

44

9

:

11

6



c)   
[image: image11.wmf]=

26

3

:

13

6


5.   Vypočítajte :
a)   
[image: image12.wmf]=

6

:

5

3



b)   
[image: image13.wmf]=

5

:

17

10



c)   
[image: image14.wmf]=

÷

ø

ö

ç

è

æ

35

8

:

6

5


6.   Vypočítajte :
a)   
[image: image15.wmf]=

5

12

:

24

,

0


b)   
[image: image16.wmf]=

÷

ø

ö

ç

è

æ

4

1

5

:

7

3


c)   
[image: image17.wmf]=

20

7

:

5

4

2


7.   Vypočítajte :
a)   
[image: image18.wmf]=

·

4

7

7

6



b)   
[image: image19.wmf]=

·

14

9

27

2



c)   
[image: image20.wmf]=

·

26

1

3

13


8.   Vypočítajte :
a)   
[image: image21.wmf]=

·

3

,

0

9

4



b)   
[image: image22.wmf]=

·

÷

ø

ö

ç

è

æ

1

,

8

27

5


c)   
[image: image23.wmf]=

÷

ø

ö

ç

è

æ

·

16

3

9

8


9.   Vypočítajte :
a)   
[image: image24.wmf]=

÷

ø

ö

ç

è

æ

·

10

7

1

17

3

1



b)   
[image: image25.wmf]=

÷

ø

ö

ç

è

æ

·

÷

ø

ö

ç

è

æ

9

1

1

5

1

7


10.   Vypočítajte :
a)   
[image: image26.wmf]=

15

2

:

5

4



b)   
[image: image27.wmf]=

21

16

:

9

4



c)   
[image: image28.wmf]=

27

34

:

36

17


11.   Vypočítajte :
a)   
[image: image29.wmf]=

2

:

8

7



b)   
[image: image30.wmf]=

7

:

31

28



c)   
[image: image31.wmf]=

÷

ø

ö

ç

è

æ

4

39

:

18

13


12.   Vypočítajte :
a)   
[image: image32.wmf]=

6

,

0

:

15

12



b)   
[image: image33.wmf]=

÷

ø

ö

ç

è

æ

14

11

:

7

1

3


c)   
[image: image34.wmf]=

13

15

:

8

7

1


_1353877361.unknown

_1353878060.unknown

_1412744912.unknown

_1412744966.unknown

_1412744993.unknown

_1412745017.unknown

_1412745075.unknown

_1412745072.unknown

_1412745007.unknown

_1412744988.unknown

_1412744945.unknown

_1412744958.unknown

_1412744938.unknown

_1353878169.unknown

_1353878240.unknown

_1353878462.unknown

_1412744903.unknown

_1353878321.unknown

_1353878198.unknown

_1353878136.unknown

_1353877761.unknown

_1353877818.unknown

_1353877836.unknown

_1353877795.unknown

_1353877503.unknown

_1353877593.unknown

_1353877386.unknown

_1353876823.unknown

_1353877251.unknown

_1353877291.unknown

_1353877215.unknown

_1353876696.unknown

_1353876721.unknown

_1353876661.unknown

